1. 6/2= means six objects equally divided into two groups.
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Try Again



Correct Go to the Next Question




2. Divide 10/2= means ten objects equally divided into two groups.

10/2=?
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Try Again



Correct Go to the Next Question




3. Divide 12/2= means twelve objects equally divided into two groups.

12/2=?

OO0 W >
|»—\||—\|N|cn
N



Try Again



Correct Go to the Next Question




4. Divide 14/2= means fourteen objects equally divided into two groups.

14/2=?
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Try Again



Correct Go to the Next Question




5. Divide 10/5 means ten objects equally divided into five groups.

10/5=?
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Try Again



Correct



